
Instruction Sheet
Document Number 1622260-01

© 2022 Nordson Corporation 1622260-01

Universal Spray Gun Mounting Kits

Description
This instruction sheet provides a parts list for the bar-mounted and tube-mounted spray 
gun mounting assemblies. The universal mounting assembly provides a stable and 
versatile system for gun mounting and is configurable for a variety of gun positions and 
booth depths.

NOTE:  � Refer to the Installation section of your system’s spray gun manuals for 
mounting assembly installation instructions. 

Parts
To order parts, call the Nordson Finishing Customer Support Center at (800) 433-9319 or 
contact your local Nordson representative.



2 Universal Spray Gun Mounting Kits

© 2022 Nordson Corporation1622260-01

Universal Tube-Mount Spray Gun Mounting Assemblies
All mounting assemblies are optional.

Figure 1  Spray Gun Mounts for Tube-Mount Guns

Universal Tube-Mount Gun Mounting Kits
See Figure 1.

Item Part Description Quantity Note
— 1622259 KIT, spray gun tube-mount, universal 1
1 - - - - - - •	 MOUNT, sleeve, auto spray gun 1
2 981561 •	 SCREW, socket, 3/8-16 x 1.000 in., zinc 3
3 1103250 •	 MOUNT, Encore® auto spray gun, vertical, universal 1
4 1103253 •	 CAP, clamp, bar, universal 1
5 1103423 •	 SCREW, flat, socket, M8 x 40, steel, black-oxide 2
6 - - - - - - •	 PLATE, attachment, support, spray gun bar 1
7 981528 •	 SCREW, socket, M8 x 30, zinc 2
8 1016533 •	 NUT, T-slot, M8, stainless 2
9 248957 •	 HANDLE, adjustable ,3/8-16 x 1.77 in. 1

10 - - - - - - •	 MOUNT, clamp, automatic spray gun 1

10021718

Tube-Mount for M8 Slotted 
Square Bar

Tube-Mount for 1.25 inch to 1.375 inch 
Vertical Bar

Tube-Mount for 0.75 inch to 1 inch  
Vertical Bar

10 9

3
1

4

2

22

5
1

2

6
8

5

2

1

7



3Universal Spray Gun Mounting Kits

© 2022 Nordson Corporation 1622260-01

Universal Bar-Mount Spray Gun Mounting Assemblies
All mounting assemblies are optional.

Figure 2  Spray Gun Mounts for Bar-Mount Guns

Universal Bar-Mount Gun Mounting Kits
See Figure 2

Item Part Description Quantity Note
— 1622258 KIT, spray gun bar-mount, universal 1
1 248957 •	 HANDLE, adjustable ,3/8-16 x 1.77 in. 1
2 249074 •	 HANDLE, adjustable, 3/8-16 x 2.75 in. 1
3 983061 •	 WASHER, flat, .406 x .812 x .065 in., zinc 1
4 248669 •	 BODY, adjustable, mounting 1
5 327733 •	 SLEEVE, locking, 1.25 in. diameter 1
6 - - - - - - •	 CAP/PLUG, long, 1.25 in. ID 1
7 327732 •	 BODY, locking, 1.25 in. diameter 1
8 327704 •	 ROD, adjusting, aluminum, 1.25 in. OD x 4 ft. 1
9 1103254 •	 CLAMP, bar, transition, universal 1

10 1103253 •	 CAP, clamp, bar, universal 2
11 1103423 •	 SCREW, flat, socket, M8 x 40, steel, black oxide 4
12 - - - - - - •	 SCREW, flat, socket, M8 x 60, steel, black oxide 2
13 - - - - - - •	 PLATE, attachment, support, gun bar 1
14 1016533 •	 NUT, T-slot, M8, steel 2
15 981528 •	 SCREW, socket, M8 x 30, zinc 2

Bar-Mount for 0.75 inch to 1 inch 
Vertical Bar

Bar-Mount for M8 Slotted Square BarBar-Mount for 1.25 inch to 1.375 inch 
Vertical Bar

1

2
3

5
4

7

11

9

6 10
11

12

10

6

8

15

13 14

10021717

8

6



4 Universal Spray Gun Mounting Kits

© 2022 Nordson Corporation1622260-01

Issued 4/22

Original copyright date 2022. Nordson and the Nordson logo are registered trademarks of Nordson Corporation.

All other trademarks are the property of their respective owners.

Cable and Tube Kits
All cable and tube assembly kits are optional.

8 Meter Cable and Tube Kit

Item Part Description Quantity Note
— 1622306 KIT, cable and tube, 8 m 1
1 1097537 •	 CABLE, auto, Encore,8 m 1
2 900617 •	 TUBE, polyurethane, 4 mm OD, clear, 30 ft. AR

AR:  As Required 

12 Meter Cable and Tube Kit

Item Part Description Quantity Note
— 1622307 KIT, cable and tube, 12 m 1
1 1097539 •	 CABLE, auto, Encore ,12 m 1
2 900617 •	 TUBE, polyurethane, 4 mm OD, clear, 44 ft. AR

AR:  As Required 

16 Meter Cable and Tube Kit

Item Part Description Quantity Note
— 1622308 KIT, cable and tube, 16 m 1
1 1097540 •	 CABLE, auto, Encore, 16 m 1
2 900617 •	 TUBE, polyurethane, 4 mm OD, clear, 56 ft. AR

AR:  As Required 


